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Run 5690 quartetwise, Asyms0 (Raw): All
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Run 5690 guartetwise, Asyms0 (Raw): Beam ON, Laser ON
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guamstwisa baami las! asymi

Entries 279
Mean -142.2
Std Dev 8354

|

—200 -150 -100

-50

0

150

gHelNSamples0})/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.183898)

3000
2500
2000
1500
1000

500

9

Run 5690 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5890 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5690 quartetwise, Diffs0: All
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Run 5690 quartetwise, Diffs0: Beam ON, Laser ON
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Run 5690 quartetwise, Diffs0: Beam OFF
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Run 5690 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 5690 quartetwise, NegHelAccO/NSamplesQ: All Run 5680 quartetwise, NegHelAccO/MNSamples0: Beam OFF
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Run 5690 quartetwise, PosHelAccO/NSamplesC: All Run 5690 quartetwise, PosHelAccO/NSamples): Beam OFF
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Run 5690 quartetwise, Sums0: All
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Run 5690 quartetwise, Sums0: Beam ON, Laser ON
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Run 5690 quartetwise, Sums0: Beam OFF
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